The Association of Corporate Treasurers CPD Exit Test

MTF Treasury Organisation and Influence

Worked Solutions
Question 1 
The mix of activities and their priorities within a treasury should be set primarily by which one of the factors below?

(a) the state of the equity market

(b) the nature of the combined financial markets

(c) the nature of the businesses covered by the treasury

(d) the expectations of the treasurer

(e) don’t know

Answer 

The right answer is (c) the nature of the businesses covered by the treasury

The nature of the businesses covered will determine the nature of any risks to be managed, the need for funding and, to a certain extent, the attitude to risk management.  These features are relatively constant compared with the state of the equity market or the other financial markets.  The expectations of the treasurer should not be relevant.
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Question 2 

Which of the following are used as good reasons for centralising treasury operations?

A
Head Office costs are reduced

B
efficient use of staff expertise

C
cost saving

D
alignment of treasury operations with local needs

E
alignment of treasury operations with group needs

(a) ABE

(b) BDE

(c) ACD

(d) BCE

(e) don’t know

Answer

The right answer is (d) BCE

Head Office costs are likely to rise with a centralised treasury as specialist staff numbers, and their associated costs are increased.  Overall costs may, of course decline as costs are removed from subsidiaries.  Alignment of treasury operations with either group or local needs is often used as a good reason for centralised or decentralised treasury operations.  A centralised treasury would be more likely to align operations with group needs.  Cost saving is a good reason for centralising, there will be less instances of duplication of staff in various subsidiaries doing essentially similar work.
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Question 3 

You are considering the establishment of a re-invoicing centre for your group.  Which one of the following should be the most important determinant of the location of this company?

(a) capital gains taxes and income taxes

(b) income taxes and double tax treaties

(c) capital gains taxes and double tax treaties

(d) the climate and personal taxes

(e) don’t know

Answer 

The right answer is (b) income taxes and double tax treaties

Re-invoicing centres are invoiced by subsidiaries in the subsidiaries’ own currencies (normally).  They then issue invoices to customers in the agreed currencies.  They are unlikely to make a capital gain by owning assets and therefore are not too concerned by capital gains taxes.  They will, however, be concerned by income taxes and the potential impact of double tax treaties between their location and both subsidiaries’ and customers’ locations.

Alternative (d) may be suspected as the real reason for some choices, but the question is carefully phrased to ask “what should be …” rather than “what is …”!
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Question 4 
You are treasurer of a large industrial group with six subsidiaries in six countries. Four of these subsidiaries are mainly involved in intra-group trade, two deal directly with external customers. Each subsidiary reports in its own currency.  It is group policy that all foreign exchange exposures should be hedged as soon as they arise so that each subsidiary undertakes many hedging transactions during each month.  You have reviewed this situation and intend centralising the exposure management and allowing some discretion in hedging.  Each subsidiary will issue intra-group invoices as normal, but in its own currency to a central entity rather than direct to their customers.  The central entity will issue a single payment each month to each subsidiary as a result of these invoices.

Which of the following would describe the central entity?

(a) re-invoicing centre

(b) netting centre

(c) mixer company

(d) export finance company

(e) don’t know

Answer

The right answer is (b) netting centre

A re-invoicing centre re-issues invoices and makes payments against invoices received.  A netting centre’s purpose is slightly different in that it is not there to re-route invoices and payments or assume foreign exchange risk, but to net off a multitude of payments to a smaller number of net payments.  This is the situation described.

A mixer company (whose status is not perfectly clear at present) is intended to mix dividends of different levels of tax to achieve an improved ability to utilise tax credits.  An export finance company is intended to provide internal factoring or invoice discounting.
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Question 5 

In managing the centralised treasury operations of a diverse group of businesses you have come to the conclusion that the key aspects of the role are more to do with communicating with and managing other managers than with the technical issues associated with treasury management.

Which of the following groups of managers would comprise the most important group for you to communicate with and manage?

(a) cash managers in subsidiaries

(b) purchasing and sales managers in subsidiaries

(c) accounting managers in subsidiaries

(d) accounting managers in head office

(e) don’t know

Answer 

The right answer is (b) purchasing and sales managers in subsidiaries

The key decisions involve looking forward rather than backwards, and concern the expected flows of cash.  The managers who control these and can give the necessary information are the purchasing and sales managers.  In addition, these are the people that you will need to influence so that they understand the treasury perspective of their own roles.  If they understand the importance of treasury they can make sure that they inform you of any impending decisions that may require action by you.
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Question 6  
Your treasury is in the process of changing from a system of passive hedging to active hedging.

Which of the following most closely reflects this situation?

(a) you used to hedge as soon as an exposure was identified, now you can decide timing but must still hedge

(b) you used to keep a hedge until maturity, now you can close out or re-open an exposure if desired within agreed limits

(c) you used to be constrained to a limited range of hedging instruments, now you are unconstrained

(d) you used to hedge all exposures, now you can choose which, if any, to hedge

(e) don’t know

Answer

The right answer is (b) you used to keep a hedge until maturity, now you can close out or re-open an exposure if desired within agreed limits

Active hedging is often regarded as more risk tolerant than passive hedging as it allows the implementation of a speculative view regarding the future trend in rates.
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Question 7 
In seeking to prepare next year’s cash forecast which of the following are the key relationships to be nurtured by the group treasurer?

(a)
the group cashier

(b)
the econometrics department

(c)
the sales department

(d)
the financial control department

(e)
don’t know

Answer

The right answer is (c) the sales department

The sales department should have the best view on what sales are likely to be next year and what the mix of sales is likely to be.  The key issue is the focus on the future and the world external to the company, rather than the past and the world internal to the company.

The cash forecast is concerned with the future rather than the past.  The financial control department is normally concerned with the past therefore would not be key to the preparation of the forecast.  The group cashier would be very helpful for forecasts of up to one month, but for next year’s forecast may not be the most helpful.  An investigation has just been launched by R&D to find the purpose of the econometrics department.
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Question 8 
It has been suggested that Treasury organisation is determined by three main factors: ‘Role’, ‘Response to Risk’ and ‘Authority’. 

Your treasury is deciding whether to organise itself as a profit centre or a cost centre.  Which of the three factors is likely to determine the decision?

(a) Role

(b) Response to Risk

(c) Authority

(d) None of the above

(e) don’t know

Answer

The right answer is (b) Response to Risk

Typically a cost centre approach is found in risk averse situations.  Where some risk can be accepted either a “cost-saving” centre or a profit centre is found.
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Question 9 
Treasury decisions are controlled at the local level but all external financial transactions are required to be conducted through the central treasury.

Which of the following roles is described above?

(a) Advisory role

(b) Agency role

(c) In-house bank

(d) Entrepreneurial role

(e) don’t know

Answer

The right answer is (b) Agency role

The advisory role implies that all major decisions are taken elsewhere such that the treasury merely advises.  An in-house bank role exists where the treasury functions as the sole bank with which subsidiaries can deal.
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Question 10 
It has been suggested that treasury culture can be understood using a two by two matrix with “Risk” along one axis and “Speed of decision feedback” along the other axis.

Which culture would be defined by speed of decision feedback being slow and risk being low?

(a) Tough Guy, Macho culture

(b) Bet-your-company culture

(c) Work hard play hard culture

(d) Process culture

(e) don’t know

Answer

The right answer is (d) process culture

The process culture is defined by being bureaucratic, formal, technical and scientific – not receptive to change.  This is often found when decisions are taken slowly and the overall environment is seen to be low risk.

Manual IX Ch 3.4
